Biulogy 10th Lahore Paper-11
Board 2018 Group-I

|
1

Time: 15 Min | OBJECTIVE | Marks: 12

(Group-I)

Note: Four possible answers A B, C and D to each
guestion are given. The choice which you
think s correct, fill that circle in front of that
question with Marker or Pen ink. Cutting or
filllng two or more circles will result in zero
mark in that questions.

1-1 Diazepam is a drug of:
(A)  Vaccines  (B)  Sedatives
(C) Antibiotics (D) Analgesics

2. The enzyme which used to dissolve blood
clots is: .
(A} Amylase  (B)  Pepsin
(C) Tripsion (D) Urckinase

W

Making a normal pigmentaticn it example of -
(A) Phenotype (B) Genotype

(C) Traits (D) Chromosomes
4. Encyclopedia "Al-Tasrif" is written by -

(A) Al-Farabi (B) Abu-al-Qasim
(C) Ali Ibn-e-lsa (D) Al-Haitham

S The length of spinal cord is:
(A) 20 cm (B) 40 cm
(C) 60 cm (D) 70 cm
5. Female reproductive part of flower is:

(A)  Gynoecium (B)  Androecium
(C) Sepals (D) Petals
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(Group-I)

PART-I
2. Write short answeis to any FIVE (5)
' questions: 10
(i) Explain stomata. |

(11 What 1s alveolus?

(iil) Explain thermoregulation.

(iv)  Define osmosis.

(V) Explain rena! pelvis.

(vi)  Explain reflex arc.

(vi)  What is myopia?

(vin)  Explain oval window.

3. Write short answers to any FIVE (5)

questions: - 10 ..
(1) Differentiate between compact and spongy
bone.

(i) What is meant by antagonism?

(111) Write two advantages of vegetative
propagation.

(ivi  Write the functions of hilum and micropyle in
seed. |

(V) Differentiate between epigeal and hy.ogeal
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Biology | 10th Lahore Paper-11
| Board 2018 |  Group-l1

Time: 15 Min | OBJECTIVE | Marks : 12

(Group-II)

Note: Foar possible answers A, B, C and D to each
question are given. The choice which you
“think 1s correct. fill that circle in front of that
guestion with Marker or Pen ink. Cutting or
filling two or more circles will resuit in zero
mark in that questions

-

1-1. Length of spinal cord is"

(A) 40 cm (B) 30 cm
(C) 20 e (D) 10 cm
2. Example of rhizome stem is:
(A) Potato (B) Ginger
(C)  Onion (D) Garlic
3 Human skeleton contains number of bones:
(A) 406 (B) 306
(C) 206 () 106
< Part of embryo makes oot
(A) Cotyledon =3 Epicotyi
(C) Radicle (D)) Plumule
. It s the unit of nerveous system:
(A Ganglions (%) Nerve
(C) Neuron (M Receptor
& The complete map of human gericme was
published In:
(A) 1902 (B3 : 2000

) 2002 DY 42005




Biology 10th Lahore | Paper-11
| Board 2018 Group-l11

Time:1.45 Hrs| SUBJECTIVE |Marks : 48

(Group-l1I)

PART-I
2 Write short answers to any FIVE (5)
- questions: : 10
(i)  Differentiate between glottis and epiglottis.

(11) How does the gaseous exchange occur in
leaves and young stems?

(1) Define hydrophytes and give an example.

(iv)  Write down the method of lithotripsy.

(v)  What is meant by succulent organs? Give an

example. ,
(viy  Write down the function of occipital lobe.
(vi) Differentiate between sympathetic system and

parasympathetic system.
(viii)  What is meant by brain stem?
3. Write short answers to any FIVE (5)
questions: 10
(i) Differentiate between flexion and extension.
(i) What is meant by osteoporosis?
(iif) How binary fission take place in invertebrates
- give an example? |
(iv)  Define endospores, give an example
(v)  Write the name of two important parts of
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